B.Com. (PART-II) EXAMINATION, 2018
BANKING AND FINANCIAL MANAGEMENT

First Paper-(Financial Management)
Time allowed : Three hours Maximum marks : 100

Part-A (Compulsory) : [Marks : 20]
uTT-31 (P )
ot g8 W HE mﬁwﬁ%lmmfﬂmzome—a@ﬁwﬁm
e | Gt T¥H & % THE € | ; |
© . Part-B (Compulsory) [Marks : 20]
S ar-w ( fEr )
gt oty wifed uﬁmmmw som&ﬁﬁﬁwqﬁmaﬁqlwﬂ
U¥Al & 3 WA € | |
Part-C ( ¥01-9) [Marks : 60]
HE ?ﬁ“—lmﬁ%ﬁmﬁmmwaﬂ 400 F= & SR T €W <Afee i Wl
T F AF WA
Part-A (Compulsory)
wT-21 ( 3ifart )
[. What are the main investment decisions ? Give only (wo names.
y@ fafrasm fia 7 § 2 Faa @ W fafad
2.  What is difference between financial and accounting function ?
foita ud SR F14 § o1 o § 2
3. Qive names of any two responsibilitics of a modern finance manager,
@ AYfE faw yaa & o S Qa6 I Sagd |
4. Distinguish between horizontal and vertical financial analysis.
fas wd e fadia favemm 3 =R g |

5. State two differences between fund flow statement and balance sheet,

F9 yaw faavo g foufa faao ¥ € 3= gad |

6. State two limitations of cash flow statement.

UFS YaTe e #1 Q) dand =aEd |
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10.

1.

12.

13.

14.

15,

16.

The share price of Raj Ltd. is T 64 per share if dividend declared is T 4

per share and growth rate in dividends 15 5%, what is the cost of

equity capital ? 2

T 3. & 319 & AR ge T 64 ¥ 1 Afg a2 T 4 wfa ofw o

Hifta forar &) A ey W 5% @t 9fg [ E @ v O w6 e @

anft 2

What is line of credit ?

wa w7

What is bonus share ?

T s R ?

Give two characteristics of financial furccaslmgs

fordr et 1 ) oo A

Part-B (Compulsory)

g ( 3tfard )

Write four limitations of financial managerm,nt 4

ferefta ey Wt =w dad fefad g 4
Mohan Ltd. has an avcragc stock is 1,00,000 and stm.k lrnover ratio
8 times. It sales gouds al a profit of 25% on cost. Ascertain Gross Profit
Ratio. 4
T fir. 0 i T . 1,00,000 TH T e ST 8 Tl & | 97
AT W 25% T @ TS aga ¥ | ghd WY o wa ifed ) 4
Write short note on application of funds flow statement.
FNY WATE Forar #) Swaftar O i frooh fafed
Explain diffcrence between operating and financial leverage.
qftaer Sdieie e fad saters o srat e @tfed |
If P/V ratio is 20% and fixed cost ¥ 16,000, find B.EE.P. in units
assuming that the seHing price per unit is T 20. 4
i NH-HET S 20% A Tl o T 16,000 & 1 Q@ ww-fa=dg fag
1 Mo el W Hifd, 98 e gu TR wfa s ew T 2081 4
Part-C { \¥T1-9 )

Unit-1 (Z&#E-1)

How is wealth maximisation better objective than maxithisation of

RN RN D N M

& B b b

profit 7 20

TIel Yod Afmhan &, A sffusan F % I | few aw 4

?7? 20
O

The Z Company's financial statements on 3 1st March, 2015 and 2016
comain the following information :
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L7.

31 }rd 2015 | 2016 T Z FY & faha feraor o e g fafea € -

Particulars 31st March 31st March

2015 2016
Cash 1,00,000 80,000
Sundry Debtors 1,60,00C 2,00,000
Temporary Investment 1,00,000 1,60,000
Stock 9,20,000 10,80,000
Prepaid expenses 14,000 6,000
Total Current Assets 12,94,000 15,26,000
Total Assets 28,00,000 32,00,000
Current Liabilities 3,20,000 4,00,000
10% debentures 8,00,000 8 00,000
Equity share capital 10,000,000

Retained earnings 2 34,000
Statement of profit for the year ended 35t March, 2016:
Sales

Less cost of goods sold 1;4;00,0{}0 _, -
Less Interest - 80,000 14,80,000
Net Profit '5,20,000
Less Taxes. @ 30% 1,56,000
Net profit after tax 3,64,000

Dividend declared on Equity Shares T 1,10,000. Appraise the financial
position of the company from the points of ‘view of (i) Liquidity
(1i) Profitablluy and (iii) Activiy. |

T S W 1,10,000 F Ewuiw wfigq fHa w0 Fwereh @ fada ffy

) weiten e gfesmio @ SISA- (i) Wad (i) SvRTgEar a9
(m) nfafafin 20

Unit-IT ( §oTE-11)
From the follc:rwmg Balance Sheets of Ram Ltd., prepare a funds flow
statement and & statement of chianges in working capital :

T for. 3 et ferft Pl A v yoE freRo aen e S A
e 1 v T S ;

Baiance Sheets of Ram Ltd.
as on ’%l:\.t March 2015 and 2016

Liabilities 2015 2016

4 ¢
Share Capital ‘ 45,000 60,000
6% Debentures 22,500 15,000
Gencral Reserve 6,000 7,500
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Dividend 6,300 7,500

(i)

(ui1)

(1v)

Sundry Creditors 3,750 7,050
Bills Payable 3,000 2,400
Provisions for Bad Debts 4,500 5,400
Provision for Taxation 6,000 7,500
' 97,050 1,12,350
Assets 20135 2016
T <
Goodwill 15,000 12,000
Land and Building 30,000 22,500
Plant and Machinery 12,600 30,000
Investments . 3,000 © -4,500
Cash in Hand 2,250 1,500
Cash at Bank 1,500 1,200
Debtors 28,050, 34,650
B/R 3,000 4,500
Preliminary Expenses 2,250 1,500
| 97,050 1,12,350
" The following additional information is available
= afeifies e swea €
(1) A machine has been sold for T 1,500 whose written down value

was < [,800. Dc,pr{,cmtlon of T 1,500 was charged on Plant
Account,

T 1Y fsrae safafad gea € 1,800 o, Y 1,500 W sran |
T T 1,500 HTT BT AR A1

Investments are irade investments T 450 by way of dividend was
received including T 150 from preacquisition prolit which was
credited to Investment Account

fafrat =araifien fafmiv 13 450 enaiw wa f o foe € 150
ﬁwﬁ{dﬁ?aﬁﬁﬁﬁmﬁ@ﬁﬁ?ﬂﬂ@ﬁ%m (=)

fepan 1T

An interim dividend of ¥ 3,000 was paid.

T 3,000 1=t @1rer & FraE R

Tax paid during the year < 4,500, '

T4 F TR B & T 4,500 YA T 20
Or

Subbham Ltd. has the following Capital structure based on markct
values

v fa. &t IR ge ) snefa g5t e foa var €
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18.

Sources 4

Equity capital (80,000 shares of ¥ 10 cach) 10,00,000
15% prefercnce shares (600 shares of T 100 each) 62,100
14% Debentures (Face value of T 1,000) , 97,000
16% term loan 80,000

The dividend per share expected for the next year is ¥ 1.50 and is
expected to grow at the rate of 2 percent. Preference shares are
redeemable after 5 years at a premium of 5% and debentures are
redeemable after 10 years at face value. The applicable tax rate for the
company is 30%.

You are required to calculate the weighted average cost of capital
using markel value weights, .

e 7d F g weafia wfd afw @ 1 2 150 ¥ a1 faaat 2 yfewe &

A Fg3 i g ¥ sy s 5 ad yvEr 5% vifrem s

¥ 3R m-wa 10 9 g sifRT e WA & FEE wEn R

mJO%ﬁimm{m#Mmmmmmﬁamtﬁ

guckRiue el 4 20
Unit-XIT ( mﬁ-—m )

A proforma cost shcc! of Meera Litd. provides the following particulars :

| Amount per
Elements:of cost Unit ()
Raw materials 160
Dlmcl Labour 100
Overheads 80
| Total cost 340
Profit 60
Selling price 400

Additional informations :

(1) Raw materials are in stock for one month on an average.

(i) Materials are in process of half month on an average. Material is
introduced in the beginning of production cycle while wages
and overheads accrue cvenly.

(iii) Finished goods are in stock for onc month on an average.,

(iv) Credit allowed by suppliers is one month. Credit allowed to
debtors is two months. 25% of output is sold for cash.

(v) lag in payment of wages is half month and lag in payment of
overheads is one month. |

(vi) Minimem desired cash balance is T 1,00,000, you are required 10
prepare a statement showing the working capital needed to
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finance a level of activity of 60,000 units of annual production.
You may assume that production is carried on evenly throughout
the year. 20

sifafaa guamn -

(i)
(i)

(tii)

(iv)

(v)

(vi)

Ho HA HEa T A =2fe A wa g _

Aot Fmior sraen § sivgad sun Wi @Al € | 9t ST W% %
ey 3 frifira @) ot  srafs norgt @ Iufiera wom w9 i
¥

it vt oftam ww O o <fw § war ¥

AR T U& WIE & IUR <t At | a1 7R ) S W Y U
& Tt ¥ | IR B 25% T forgea dvar ¥

TG & A § el HiE a9 SURead & e § U HIE
faera g

IAqq Fifga THg w9 T 1,00,000 1 3R 60,000 FHFEA F
e Ieare & ferareitera & w & fog wrdvie 4t &) servaswan
&1 faato g3 R &0 ¥ 1 39 98 91 g ¥ st o W

qaR 7ifa F =16 wan € | 20
Or

What is Optimum Capital Structure ? What factors should be borne in
mind in deciding a capital structure ? 6+14

eyt it weae A ;0 A 7wmﬁﬁ9§ﬁwmﬁm

0 g9Y fFa-foa weanl ¥ fauw fea s =nfge 2 6+14
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